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—,  IATEX NI
R EEW S
1. — R T LaTeX 23 1A 48
9. AT TEX 2448 [t )
ITEX 2 [ B AT B s HERR 2245, 7030 FRH Rl S A B h N2 s

Hle 222) BOEX HEROB 2 & — N RIT 5 2 GERIIT IS SR AL S 1E, 1R SO E
A2k

1.1 RIS

SRR T 2R SR RGBS TN B 4 LR R S P B AN IR A 18 LB S SRR 2 AR
%, TR T TR AR TiX YRR B H L IR 2555 2R, MR s HERR R . 1
Y PR SR TN X V6 = B0 T EML AL S B AR ) — b b AR 3 2 S IR Tk AT B bl
B[ PDF SCRY, AT [AUAR 5 4 T 3% A 52 s HERRAE 25 -

1.1.1 “miE=%
niR s RAET £, FH “ArWRIATS” B9 LyX, 26 Linux M # Emacs 1 Vim,
A geek [A[F)Sublime Text, & H W% IDE [ TEXStudio. & & —1&
LSWEABEFHRE, -
1. B, ARTT DAAE B3 A 5 24hAT]
2. EHEM HBb R IhRE, REHA a4 01— Hie e e it s
3. FHEMERAEE N, AR DR B2 A SR

4. MRS TR, JEFEEABT, R g T5E

BN NHR] LLGE £ B CRT R g a5, QR IR EC AR WA Je e AE dn it 22 ik £
iR — MBI 4 9 P A T B AT TEX Works /2 — /M AR £ .

1.1.2 Ymi¥ss

T PEds —MFAE T2 T EAAR &M TEX KIiTad, #HEEafErnZ /0Nt
HRFHEEFTA G #HH. LBEERS AR, HRRATHRAKITEH TeXLive,
proTEXt 1 MacTEX. £ Windows &5 83 Linux “F & 5 2 TpXLive, R
BN 4 TR EIE R FRISO HAZIAT N . BN RS REFEEG FTP T4, @it
AR AT ASRAFIXAS 3GB 24 1) 1SO A, 223 B DL AR 30 & 28 5 A T4 30y
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https://github.com/OsbertWang/install-latex
http://mirrors.ctan.org/info/lshort/chinese/lshort-zh-cn.pdf
http://www.sublimetext.com/
http://texstudio.sourceforge.net/
https://www.tug.org/texlive/
https://www.tug.org/texlive/acquire-iso.html
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1.2 Zi4miF
1.2.1 Windows

LRI R E TR G, BT DL T AR ST g e AR . 4T S0k
Hiffthesis. tex XM, KEERINGN 1R A ¥ B N XelWTRX (TRXStudio HHK X i 5 Options
- Configure TeXstudio - Built - Default Complier WiEF XelATEX, TXworks N A PLik
Bl LA NSRRI PR XelWTEX), i dm PRl ol T 9w et 72 1.

IEERmBELS N G, I HIL— N thesis. pdf SO AN gw 48 2 0 2> H 3))
FIF SO A B — RS SE TN . VR AT DO B B O 9 18 H R R il SR 5 AR SO A 2 TR ) 22
T, RHAE g IEER MR A e T O AW E %Y.

1.2.2 Mac OS X

£ OSX RGN, HMTRENTRIIXA, AR ER] %% B, A
T E TR N PR BE, DOEHE IR, BB 0 2nT L2 AP H 4

[ 25 (R 55 DU 20 W] e 2 2B 04,

cd /usr/local/texlive/2019/texmf-dist/tex/texlive/ctex

1.2.3 Linux
AFHAE Ubuntu 14.04 BLA 12.04 Kk R _F 3 gmBmid .

1.3 BERLRER
Fe FETEX KATE (N & a2 8 J ST | 20X AN RAT B KR 75 2
20 ZrBh e A B TR], 22 BEHA 1A)1E O A1 % 23 4 A DA ORUE 2L B IR0 33 0F . AS8 A 1 A )
B|AREE N TEX Studio, fENERINGE 2R H . T Fthesis.tex, X EmIFMHN
XelWTEX FFEAT — R g1k, 0S8 2ok g B i o) RS T 5 DR BoR 485 :
MREAE R B AT IER, £ TEXStudio 1 Options - Configure TeXstudio - Com-
mands PR A, IEFREEE (1] BAROZELT

"D:/Program Files/texlive/2019/bin/win32/latex.exe"

-src -interaction=nonstopmode %.tex

—. FREBRX

£ BTRX FFiR SCRIH AU AL M A 1 I A M AL S 5 sURJT 1, &5 2Z 8= IR 7>
W, BE iR R EE . BMENX— gl i ZAE LM SRR — Bt e, B2l
o TRX AR A F A bR L
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\subsubsection{ F & Hy = il & 4} WARLA 2.1.1 FARES A

HIF R T ctexMlarticle R AR SCHIEEATE, F LUSE SUhnl (M2 P % 8 — bl
BRSO B =R hr N2, 1.1 LI, 55 R AB O R Z A L NS AL
FRIVESK . (Dbl 22 LT 548 AR BB 2 mh, B SCYR NSO S R L
=R ABIITE LN F I o AE— MRS L2 5 L — A i Bobm 2 A5 SR 24 |l
AR A s, 38 ISR 5 AN SO IR B A 2%l mT LU 7 A 2t S R

2.1 FRFSHEF

TS A ER AR B T ctex XA SEILIY, A A0 B BSOS IR BEAE A SOk AR B Dy
1948 VF 22 I 8] o A2 2% 00 0 T A B A A0 = 5 (R 5 VAT VR B3 o AEFRAT TR 1
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2.2 ERRFBRLE
2.2.1 FEXHEFMAEA

P2 b IIRX A CLAC PRS- Fh SRR B 2R B jpeg 1) bmp, M pdf F| eps 2]
DAHES2 BB Ab B R A . e A B B A SR B 3R S iR SR AR LR, 049 S 4 B HERR
RORFE AR . A AIEH R4t SO Se SR, JRAE pdf B, JRAE eps B #fA2
AL G, IR LR B R EE, PGB TR R A png BB jpeg 1%
[ .

e MAKIRFEFE MHMAE AN ISR AR T 5] .
o BIE—FEURLEEY  Python, MATLAB, Mathematica #5 /& A4S 1)k

s RETEESHINGZE HBHERER, 4 424K, #7F Ipe editor, TiKZ,
PL S Microsoft Visio Ink-scape

PRGNSR ]

/nfe K gerrm

HEFEI UNIVERSITY OF TECHNOLOGY , SCHOOL OF MATHEMATICS

2.1 HRTMRZEHEE R

N THRNIZFERIE R, JAE 1k A4 GAS:

\begin{figure} [!'htbp]

\centering
\includegraphics[width=0.75\1linewidth]{figure/title}
\caption{ & B T KA F#H ¥ ¥z}

\label{fig:title}

\end{figure}
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FESCH T, BARFRATRLSE 1 IR P 22 BB 57 B ARAR XS LRI, (LR P e 28 E S
b LA EAMCRS th IE R 2. Rt T UTA IR sk br BAERR RS
B, EBCE T BTN R SERR bR AL B ST A R R W LR AN Y
AR E TR E 1. IR SCRIR 2 8 A 2 DSHTE I, AR R G2 H 3R 37
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AT XA R G R ERATAEZERE o B AL E N5 LRI B N2, 4 2Rid
BB A B 1] ] LT LA B g 2%

o WHERA KN, BEEE. BT RZEEO N RATE EE A S 4, sehs b
B T8 BEAME B A RN —FE I SR 2

o AT, AL A A

o GEZHE AR CE, BB CIEEIRIN . BIICEAE Y TN ERS ), D)
N FRESR, TURESRITRE R .
2. 1R BoR T MR T T BRI

z

T

K 2.2 Z4EmEEE AR
M (2.3) WA TikZ B S ME R, tEgEmed 1.

2.2.2 HEXETBMARE
=R, W~ A

\begin{table} [htbp]

\caption{k A i+ & & th ik}

\begin{center}

\begin{tabular}{cccc}

\hline & F/REIKE & WENLRHK & HHTIREE \\
\hline MAIXA & LM & &K & FEME \\

SHPER & kg & JLFEF & 4F \\

REM & HREFREE & KHBTHEE & HETRAARIE \\
FHEITH ¢ METUEBESELA ¢« SEASKBNGETE & RETUUEBIE AL \\
\hline

\end{tabular}

\end{center?}

\label{tb:filter}

\end{table}
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tabular/a Hlcccc R A B RIATIOR, 111K YA B AT O R, e dATo0
7, \\Z#EIFITER, —/M\hlinesl %K.

R 2.1 PRASMTHEVAER

RIREPER LR I 25 I BB TR PER
L RitE it 2t 2k AR
SHOREL K& JIFEH A3
FasE Ik i R RS e M A A e T ARGk E N

FOEITE ARE AT DB BRIl s KRR & AR EL AT DA B S 2

IRIBRRAS LR RS DL, AL YTESERE, 7T LU i U e R M SR 2% 2
FEA /N A BT 58 i A

2.2.3 ZEFHH KR8

% BEDFHFER [subfig et AL LE4.2,
K& (%), WED.

2.3 ¥HFAN
FE TRV B A A2 TRX W — RAF i, $ IR A SR R] DLy Ak
RHAFR T ARXE . AT ARXEFHITHNARXFTE) AR PTPFSEE 5 5280 TF, 17
WAR ™ +1=0F
dG

E;=4LE+(%]+(LE+(%Z+(%5+(gE

s A HER LU S R T HE S A Aok RN . I TR AR SO IE SC B A AR B
T, I ARER F EHequation,align,split,eqnarray 588, getpsLllE=, 77
R, BT ARPER. AR G231
2.3.1 —MMEBENGIF

FE N 3 b BT B i g R BE S AT AR AR N Ok B, i R Ok B e A ) 7 VR AT AR T AR
W RGUHAT AL
SIIR 1. B —ANREIEFAL AT R ANEAI R 69 — 2 ™) = 48 B 4% 3%


http://www.tablesgenerator.com
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IER. WEAE X = (a1,b),Y = (as,bs) FEE J fH XJ =Y FRf X =y JL, Hih

Vi +bi=\Ja + 13 =R

HHZME TR BRI HL, 2 rank(A,Y) = rank(A) = 2 2T R H A ME—ME, IGI
FFE J 5 XN s e, RIS J-1 E ONEar 4% 48 14 O

IR 1. FarBEE J AlAmEIBRA 0 X

iERA. a; = Rsina, by = Rcosa . as = Rsinf3, by = RcosB JEFF a, 7] LL1F3]
as = Rsinf = Rsin(a + 0) = R(sinacost + cosasind)

N a1 . bl N NP =]

i cosa = & Sina =4 AWINCIRVECES)

as = a1cos8 — bysind

[F] 2
by = a1sinb + bycost
Ao R U A
[a2] _ [0059 —sin&] [a1] (2.1)
ba sinf  cosl b
4] LIS 2
_ [cos@ —sz’n@] (2.2)
sinf  cost
T B BT e e bk
cosl  sinb
T = [ . ] (2.3)
—sinf cosb

EIR 2. EATARANEAR M = w2, v Al r 440 L 4L
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2.3 =R RNE

2.4 Z5|KE

S Tisting %P7 DLSARES, 715 (-5 0 1 LA B listing (L (thesis.tex
SCAEHT Istset #74) K4F4 MATLAB, Python, C++ 25 AR EIESFER.

% 2019 _A Q2
% time: 2019/09/13 13:23

A

clear all;

Rho_fuel = 0.850; % unit mg/mm~3
C= 0.85 ; %Flow Coefficient

A_in= pi*0.772; % Area of the small hole. unit is mm~2

% Needle valve motion data
load('Needle.mat');

% Cam edge data
load('Cam.mat');

V_tube=pi*500*572;

Rho_160 = exp(-(1/(0.0039*exp(7.31)))*(exp(-0.0039%160)-exp(-0.39)) + 1og(0.85));
% Fuel density at a pressure of 160 MPa

Rho_0_5= exp(-(1/(0.0039*exp(7.31)))*(exp(-0.0039%0.5)-exp(-0.39)) + log(0.85));
% Fuel density at a pressure of 0.5 MPa

i=1;

data=zeors(10000,1);

for omega=14.15%pi % unit is rad/s . Cam angular velocity

clear Rho_fuel_i P_tube_i theta V_pump h_Needle Rho_pump_i P_pump_i m_Q_in A_out

m_Q_out
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a=0;

b=0.01;
c=100000;
n=(c-a)/b + 1;
P_aims=100;

% Allocate memory
Rho_fuel i=zeros(n,1);
P_tube_i=zeros(n,1);
theta=zeros(n,1);
V_pump=zeros(n,1);
h_Needle=zeros(n,1);
Rho_pump_i=zeros(n,1);
P_pump_i=zeros(n,1);
m_Q_in=zeros(n,1);
A_out=zeros(n,1);

m_Q_out=zeros(n,1);

k=1;

Rho_fuel_i(k,1)=Rho_fuel;

P_tube_i(k,1)= 100;

for t=a:b:c % unit is ms. Simulate the entire working time frame

theta(k,1)=mod(pitomega*t/1000,2*pi); 7% The polar angle of the current moment
cam. (unit is rad)

n_R= floor(theta(k,1)*100); % Theta index in Cam data

R_theta = (Cam(mod(n_R+1,628)+1,2)-Cam(mod(n_R,628)+1,2))*(theta(k,1)*100-n_R)+
Cam(mod(n_R,628)+1,2) ; % The diameter of the current moment cam. (unit is mm)

V_pump(k,1) = 20+pi*(5/2) "2*(Cam(1,2)-R_theta); 7 Relationship between oil pump

volume and pole diameter.

Needle_t=floor (mod(100%t,100%100)+1); %Index of time t in Needle data
if Needle_t<247

h_Needle(k,1)=Needle(Needle t,2); % h is the Lift of Needle.
else

h_Needle(k,1)=0;

end

if k==

Rho_pump_i(k,1)= Rho_0_5;

else

if floor (mod(100%t,100%1000% (2*pi)/omega))==0
Rho_pump_i(k,1)= Rho_0_5;
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else

Rho_pump_i(k,1)=Rho_pump_i(k-1,1)*V_pump(k-1,1)/V_pump(k,1); % Fuel density in
the oil pump at the current time.

end

end

P_pump_i(k,1) = log(-(log(Rho_pump_i(k,1)/Rho_fuel) -
(exp(-0.39)/(0.0039%exp(7.31))))*0.0039*exp(7.31))*(-1/0.0039) ;

if k>1

if Rho_pump_i(k,1)>Rho_fuel_ i(k-1,1)

m_Q_in(k,1)=C*A_in*sqrt (2*(P_pump_i(k,1) - P_tube_i(k-1,1))*Rho_pump_i(k,1))*b;

Rho_pump_i(k,1)=(Rho_pump_i(k,1)*V_pump(k,1)-m_Q_in(k,1))/V_pump(k,1);

P_pump_i(k,1) = log(-(log(Rho_pump_i(k,1)/Rho_fuel) -
(exp(-0.39)/(0.0039%exp(7.31))))*0.0039*exp(7.31))*(-1/0.0039) ;

else

m_Q_in(k,1)=0;

end

A_out(k,1) = pi*((h_Needle(k,1)+1.25/(tan(pi*9/180)))*tan(pi*9/180)) " 2-pi*1.2572;

if P_tube i(k-1,1)>12

m_Q_out(k,1) = CxA_out(k,1)*sqrt(2+(P_tube_i(k-1,1) - 12)*Rho_fuel_i(k-1,1))*b;
else

m_Q_out(k,1) = 0;

end

Rho_fuel_i(k,1)=(Rho_fuel_i(k-1,1)*V_tube-m_Q_out(k,1)+m_Q_in(k,1))/V_tube;

P_tube_i(k,1) = log(-(log(Rho_fuel_i(k,1)/Rho_fuel) -
(exp(-0.39)/(0.0039%exp(7.31))))*0.0039%exp(7.31))*(-1/0.0039) ;

end

k=k+1;

end

variance=sum((P_tube_ i-P_aims)."2);

data(i,1)=omega/pi;

data(i,2)=variance;

i=i+1;

hold on

plot(a:b:c,P_tube_i)

end
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=, #—PIHEE

3.1 1RIRAVEA

HH N R AT S BAE | body /cover.tex [T TIHS ;

EHEBRTEHBG RS H LR FEAZE, B SRR IRE R BTEX &
B A A MDA R IR R T BTEX R N A R EANR”

............

{\zihao{-4}\textbf{ & T KA ¥R E %t \LaTeX MK }} & \zihao{4}\textbf{ &K%} & \\

\hline

\zihao{4}\textbf {\makecell{\quad \\ \quad \\ \quad \\ \quad
RN EANNZANNEN NN AN\ ZN\N \quad \\ \quad \\ \quad \\ \quad}} &
\multicolumn{3} {p{33em}|}

{\zihao{-4} \qquad

ATV A¥RERIT\LaTeX EREZENETENE, HHHX B XK,

F\\

\hline

\end{tabular}
F\\

F S S (94 B 7E [thesis.tex A

\fancyhead [C]{\zihao{5} \kaishu ATk KFRAZ &It \LaTeX HERK }

3.2 NEIEIR

SCHRE A BibTEX, A BAM Google Scholar S H 4 e BT &5 E, M No-
teExpress T H A SCEIBFEAT] 2] « [3]. T BE B IR LT

@article{Breiman2001Random,
title={Random Forests},
author={Breiman, Leo},
journal={Machine Learning},
volume={45},

number={1},

pages={5-32},

year={2001},

}
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4.1

R FES HiZCEk, 7 UL E#EE H \cite{Breiman2001Random} ] 5 ¥ H#E4T 5] FH .

b, s

MRXAAD

foo | foo | foo | foo | foo

foo | foo | foo | foo | foo

foo | foo | foo | foo | foo

foo | foo | foo | foo | foo

foo | foo | foo | foo | foo

foo | foo | foo | foo | foo

foo | foo | foo | foo | foo

foo | foo | foo | foo | foo
Headerl  Header 2  Header3 Headerl  Header 2 Header3
Columnla  Column2a  Column3a  Colymnla Column2a Column3a
Columnlb  Column2b  Column3b  colymnib  Column2b Column3b
Columnlc  Column2c  Column3c Columnle Column2c Column3c
Columnld Column2d Column3d  Colymnid Column2d  Column3d

% 4.1 kdjakjdfkajd

Headerl

Header 2

Columnla
Columnlb
Columnlc
Columnld

Column2a
Column2b
Column2c
Column2d
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# 4.2 kdjakjdfkajd

Headerl Header2 Header3

Columnla
Columnlb | Column2b
Columnlc | Column2c
Columnld | Column2d

the first line

the next

#* 4.3 Symbol Table-Variablesl

Symbol Definition Units

Variables

the first lineThe number of vehicles '
N ) ) ) ) unitless
passing a certain point on the highway

L Lenth of cell cell

Ci The serial number of cell (Number i) unitless
(ri,¢i) the position of cell(Number i) unitless

T The serial number of Lane(Number i) unitless

Tt The serial number of Target Lane(Number i) unitless
Head(r;, c;) Front gap cell

Headgige (15, ¢;) Side front gap cell

Back(r;, ¢;) Back gap cell
Backg;ge(r;, ;) Side back gap cell

v; The current speed of car(Number i) cell /time-step
Vg The target speed of car(Number 1) cell /time-step

13
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#* 4.4 Symbol Table-Variables2

Symbol Definition Units
Vlimit Maximum speed limit cell /time-step
Urnean Average speed cell /time-step
v; Average speed(Number 1) cell /time-step
Dorake Probability of Accidental braking unitless
DrLec Probability of Lane-Changing unitless
0 The percentage of self-driving car unitless
T Friendliness coefficient unitless
) The extent of the back car affected  unitless
A Expectancy of poisson-distribution unitless
la,safe Safe distance of self-driving-car cell
ln, safe Safe distance of None-self-driving car cell
NL the number of lanes unitless
Q Lane changing algorithm unitless
19 Traffic flow over a period of time cell
&a Average daily traffic volume cell
p Traffic low during peak hours cell
T [teration time time-step
t [terative time slot time-step
DL the number of dedicated lane unitless
Lsafe Average safe distance cell
Lyerage Average vehicle length cell
n Average vehicle flow efficiency unitless
#* 4.5 Detailed configuration

Index value Index value

NL 1/2/3 0 [0,1]

L 1000cell A {0.1,0.25,0.5,10}

T [0,1] Uimit  10cell /time-step

Q CCL/NCL/ACL/ | DL 0/1/2/3

FCL

14
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#* 4.6

R

IH  HUE TH HUE
NL 1/2/3 o [0,
L 1000cell A {0.1,0.25,0.5,10}
[0,1] Uiimat - 10cell /time-step
0 CCL/NCL/ACL/ | DL  0/1/2/3
FCL
, x10° _ Difffent Model NL-¢, A=0.5

=

©

O

=

uwr

0
1

15 % 10* Different Model 8-,A=0.5
. —¥—NCL
1.45 —*—ACL
—8—CCL

2 3
Lane Number(NL)

£ (Cell)

15
0 10 20 30 40 50 60 70 80 90 100
Penetration of SCCs 6(%)

(a) None dedicated lane

13000

12000f  %——
-

11000

10000

9000

8000.

7000

6000

5000

40001

3000

Kl 4.1 a picture

Different Dedicated Lane(DL) 8-§,A=0.5

0 10 20 30 40 50 60 70 8 90 100

Penetration of SCCs 8(%)

(b) Dedicated lane

4.2 Simulation Results for NCL,ACL,and CCL

EIB 1. for i>0, i++.

3138 1. TpX.
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3138 2. TpX.
SITE 3. TpX.
EIE 2. for i>0, i++.

JE#]. The proof of theorem. O

anXE ZXY% Z (X — X)” (4.1)
i=1 =1 i=1

oy
ox

= lim
6x—0

— XY, §, ade (4.2)
=1

= ;(Xi—foz
ay 0 ayip ... Qin
. 10 o .
' 0 1 ' C

ad

adf

adfa
L,

Prei = [(6;,7) =1 0,6, = (4.3)

max(—1= - d; + 1,0), otherwise

g
I
ja=)

Pi(n) = —'e”\(n > 0) (4.4)

n!
The A indicates the number of vehicles per unit time t. Let A = af, and « represents
the average arrival rate of the vehicle. The Poisson distribution formula (4.1) can be

transformed into:

pa(t) = O cmene 5 (45)
o TFPHI2E
o TFPHI2E
o LFF2E
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w
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- AR A%
- AP AE
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A FE—MRE

# A.1 Symbol Table-Constants

Symbol Definition Units
Constants

DL Expectancy of poisson-distribution unitless
NCL  Never- Change-Lane unitless
CCL Cooperative-Change-Lane unitless
ACL Aggressive-Change-Lane unitless
FCL Friendly-Change-Lane unitless
SCC Self-driving-Cooperative-Car unitless
NSC  None-Self-drive-Car unitless

B F-WFE

Code

% Auto-fit for Monto_Caolo method.
% author: Yin

% time: 2019/12/30 21:11

clear,clc

fun=0(x) exp(x);

n=10000; % B & By 4~ %

m=0;

hRX RGN WH KEH

a=0; %4 TR

b=1; %M 4 LR

actual_value=fun(b)-fun(a);

x_temp=linspace(a,b,100);

y_max=1.5%max (abs (fun(x_temp))); %4E ik [HE &L EWN— T H
data=zeros(50,2); %A k% iR =t 4

for k=1:n
x=unifrnd(a,b) ;% [a,b] W R A H 5 5 BEAL > &£ — A3
y=unifrnd (-y_max,y_max) ;% M [-y_max,y_max] W RAH 5 5 BEAL = & — A4
if O<y && y<fun(x)

m=m+1;

elseif y<0 && y>fun(x)

19
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m=m-1;

end

end

p=m/n;

area=p* (2*y_max) * (b-a) ;

true_value= integral(fun,a,b);

error = abs(true_value-area);

data(l,:)=[n,error];

k_times=0; %7 UL Twhile® {& 3 89k 2K

while error>= 5%107-3

k_times=k_times+1;

for h=1:10

for i=1:1000

x=unifrnd(a,b) ;%M [a, bl W AR5 2 BEAL 7= £ — M4
y=unifrnd(-y_max,y_max);% A [-y_max,y_max] A K5 2 A AL~ £ — 14
if O<y && y<fun(x)

m=m+1;

elseif y<0 && y>fun(x)

m=m-1;

end

end

p=m/ (n+(k_times-1)*10000+h*1000) ;

area=p* (2*y_max) * (b-a) ;

data(k_times+h,:) = [n+(k_times-1)*10000+h*1000,abs(true_value-area)];
end

error=mean (data(k_times+1:k_times+10,2));

end

times=n+10000*k_times;

fprintf (' % fMonte-Carlof A= £ B B hd S, HHWASER H\n ', times);
fprintf (' 4 E: %f\n',area);

fprintf ("1 £: %f\n',error);

plot(data(:,1),data(:,2))
grid on
title("IRZEW L") ;
xlabel (' KA Znfy /ML) ;
ylabel ('R Z (HE) ");
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Code

#!/usr/bin/python
# —-*- coding: UTF-8 —*-

if __name__ =='__main__'

i=10
j =20

if i >j:

print '%d AT %d' % (i,

elif i ==j:

print '%d T %d' % (4,

elif i <j:

print '%d /T %d' % (4,

else:

print YR gnt

hp

hp

hp

C E=M%

D O)f% 4 REABHARK ARG R
X K (m) S () ZEF ()  HE
171 2 39.97 109.63 5.67E-04
172 2 39.96 109.63 5.67E-04
170 2 39.96 109.63 5.67E-04
173 2 39.96 109.63 5.67E-04
169 2 39.96 109.64 5.67E-04
174 2 39.96 109.65 5.68E-04
168 2 39.96 109.65 5.68E-04
175 2 39.96 109.66 5.68E-04
167 2 39.95 109.67 5.68E-04
176 2 39.95 109.68 5.68E-04
166 2 39.95 109.70 5.68E-04
177 2 39.95 109.71 5.68E-04
165 2 39.94 109.73 5.68E-04
178 2 39.94 109.74 5.69E-04
164 2 39.93 109.76 5.69E-04
179 2 39.93 109.78 5.69E-04
163 2 39.93 109.80 5.69E-04
(BT
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(#& bT)

X K (m) SHE ) ZE () RE
180 2 39.92 109.83 5.69E-04
162 2 39.91 109.85 5.70E-04
181 2 39.91 109.87 5.70E-04
161 2 39.90 109.90 5.70E-04
182 2 39.90 109.93 5.71E-04
160 2 39.89 109.96 5.71E-04
183 2 39.88 109.99 5.71E-04
159 2 39.87 110.02 5.71E-04
184 2 39.87 110.05 5.72E-04
158 2 39.86 110.08 5.72E-04
185 2 39.85 110.12 5.73E-04
157 2 39.84 110.15 5.73E-04
186 2 39.83 110.19 5.73E-04
156 2 39.82 110.23 5.74E-04
187 2 39.81 110.27 5.74E-04
155 2 39.80 110.31 5.75E-04
188 2 39.79 110.35 5.75E-04
154 2 39.77 110.40 5.76E-04
189 2 39.76 110.44 5.76E-04
153 2 39.75 110.49 5.7T7TE-04
190 2 39.73 110.54 5.77TE-04
152 2 39.72 110.58 5.78E-04
191 2 39.70 110.63 5.78E-04
151 2 39.69 110.68 5.79E-04
192 2 39.67 110.74 5.79E-04
150 2 39.66 110.79 5.80E-04
193 2 39.64 110.84 5.80E-04
149 2 39.62 110.90 5.81E-04
194 2 39.60 110.96 5.82E-04
148 2 39.58 111.01 5.82E-04
195 2 39.56 111.07 5.83E-04
147 2 39.54 111.13 5.84E-04
196 2 39.52 111.19 5.84E-04
(# R
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(B L)

X K (m) HE () ZE (°) BE
146 2 39.50 111.26  5.85E-04
197 2 39.48 111.32  5.86E-04
145 2 39.46 111.38  5.86E-04
198 2 39.43 111.45  5.87E-04
144 2 39.41 111.52  5.88E-04
199 2 39.38 111.58  5.89E-04
143 2 39.36 111.65  5.89E-04
200 2 39.33 111.72  5.90E-04
142 2 39.30 111.79  5.91E-04
201 2 39.27 111.86  5.92E-04
141 2 39.24 111.94  5.93E-04
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